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All questions are compulsory.

This question paper consists of 13 questions which are divided into four
Sections : 'A’, 'B', 'C' and 'D':

Section A’ :

Section B':

Section 'C':

Section D' :

In both the

Question No. 1 of this Section has forty (1-40) Objective Type
questions. Each question carries 1 mark.

This Section contain six questions from Question Nos. 2 to 7.
Each question carries 2 marks.

This Section contain four questions from Question Nos. 8 to
11. Each question carries 4 marks.

This Section contain only two questions, Question Nos. 12 &
13. Each question carries 6 marks.

questions of Section 'D' internal choices are given. You have to

attempt only one alternative.
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SECTION - A

qug - 3

=TT aegiTe geT & I § -

Answer the following objective type questions :

1. (1)

(2)

1531

A={x: xTh AT G 2}, N T A T ..o T B 1

(aRfe, @l o)
A ={x: xis a prime number}, Set A is .............. set. (Finite, Null, Infinite)
IlﬁA={a,e,i,o,u},?ﬁﬂ'ﬂﬁ'ﬁA%dl‘IH@wﬁﬁHMI% ........... | 1

{5, 20, 32, 120}

A=1{a, e, i, o, u}. Number of subsets of set Ais ............. . {5, 20, 32, 120}

2sian—c032%+tan2%EbTrlFr .............. 2 [7 13 13 13)

12°12°47 12

The value of 2sin? g — cos? %+ tan? % isequal to ............... .

7 13 13 13
127127 47 12
I A={a b, c},B={a,b,c, d e}, MANB=........ . 1
(A, B, AT B
If A={a, b,c}, B={a, b,c, d, e}, then AnB=........... .

(A, B, neither A nor B)

P.T.O.
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% foemea & 20 faee & o T @ Gifgel e 21 3FH ¥ 12 T SR 4 aNt
fowg it ok A e 21 S fers Al Tord &, T G R ooeennnn | 1

In a school there are 20 teachers who teach Mathematics or Physics. Of
these 12 teach Maths and 4 teach Maths and Physics. The number of

teacher who teach Physics are .............. .

A A=10,1,2,3,4,56, 7 T HGEI RN AR INANT & R=1{(x, y) : y =
x+5,x6yc A, T G A B WHE {oovrnnnnn N 1

Let A=1{0, 1, 2, 3, 4, 5, 6, 7}. A relation R is defined from A to A where
R={x vy :y=x+5, x, ye A Then the relation R has the range

I 40 cm AW A g4 H T AT 20 cm 3| TG A H T/E B oo LI
In a circle of diameter 40 cm, the length of a chord is 20 cm. The length
of minor arc of chord is ............. cm.
Zri%tanx:—%,x%?ﬁaagafﬂﬁ%,a‘rsinxab'rrn:r%: 1
S S
A) — B -—
(A) 13 (B) 13
12 12
Cc) — D) -—&—
(C) 13 (D) 13

If tanx = —%, x lies in 2nd quadrant, then the value of sin xis :

5 5
(A) 13 (B) 13
12 12
(€) 13 (D) 13
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(9)

(10)

(5)

s tanx:%,gﬁ cos 2x & TN 8 :

4 8
A) — B =
(A) = (B) =
7
©) — (D) T ¥ HE 7@l
25
If tanx = % , then the value of cos 2xis :
4 8
A) — B =
(A) S (B) S
7
) — (D) None of these
25
sin3x +sin5x i x=i EI'{IIFT%I
cos3x+cos5x 16
(A) o B) O
C) 1 (D) T 9§ iz 7Tl
The value of sin3x +sin 5x at x = T is :
cos3x +cosSx 16
(A) o B) O
) 1 (D) None of these

1531
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(11) cos 75° & O & :

J3+1 V3 -1
w e ® s
(©) ﬁ;l D) TH & FE T

The value of cos 75°is :

J3+1 V3-1
(A) o2 (B) o2
(@) V3+1 (D) None of these

2

(12) cos(%+x]—cos(%—x} P A T ©

(A) —J2 sin x (B) J2 sin x

(C) cos 2x (D) ™ & &g T

3n 3n .
cos T+x —cos T—x is equal to :

1531

(A) —/2 sin x (B) J2 sin x
(C) cos 2x (D) None of these
(13) I 4x+ iBx—y) =3 — 60, A FAMW x M yH AT & ..o, e, I

If 4x+ i(3x —y) = 3 — 61, then the value of xand y are .............. ) eeeeeneneaans

respectively.
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(14) AR 32 -0 =22(1 —x), A x H 99 9 WG H B, a8 8 ° 1
(A) (oo, — 4) (B) (-0, 4]
(C) [4, ) (D) [-4, =)

If 3(2 — ) 2 2(1 - x), then the value of x lies in the interval :

(A) (-0, — 4 (B) (-0, 4]
(C) [4, ) (D) [-4, =)
1 1 X
(15)xwmm%ma+ﬁ=§%,a€% .............. | 1
The value of x for which i + l =X IS v, .
6! 71 8
(16) 3R el oR A (G.P.) & ndl T 3(2) L, T T T ST B oo | 1

If nth term of a G.P. is 3(2)”_1 , then its common ratio is .............. .

(17)%@?729%311?3%?%1% ............... | 1

The geometric mean between é and 729 is ............. .

(18) B T (2 + 3i)% & WU 31 BRI 1
Find the modulus of complex number (2 + 3i)2.
(19) I’ "Cs="C;, W N B AT T ceeevrvrrrnnnn | 1

If "C5 = "C5, then the value of nis .............. :

1531 P.T.O.
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(20) 53R 25 % & 3 THRR HEA & BHAM .oovvenrnnne ) e, ) e |1
Three arithmetic means between 5 and 25 are ............. ) eeeeeneeenenn ,
.............. respectively.

(21) AR 3 - 4i FT oD ATAH x+iy T, A xR yd AT E oo ) e 11
If multiplicative inverse of 3 — 4i is x + iy, then the values of x and y
are .....oeeenenes ) eeeeeeneenes .

(22) TH ‘SIE\EI%UT (Hexagon) & faeoll &l G&AT B o | 1
The number of diagonals in an hexagon is .............. .

(23) AR @, b, cTHAX IS A.P.HE, @ 9 & -1 99 78 ? 1
A) b2 =ac (B) b=“§c
(C) b-a=c-b (D) a-b=b-c
If a, b, care in A. P., which of the following is not true ?

) b2 =ac (B) b:agc
() b-a=c-b (D) a-b=b-c

(24) IR a R b P &7 H&W &, @ 1 F -1 FFE ? 1
A) A=G B) A<G
€) A>G (D) A=2G

If a and b are two distinct positive numbers, then which of the following is

true?
A A=G B) A<G
C) A>G (D) A=2G
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(25) AR @ @ g (1, 2) 8i% (3, 5) & el B, A S TR ©

(26)

(27)

(28)

(9)

2 3

(A) 3 (B) 2
2 3

< - 3 D) - 2
WaTd x2 = -8y H A & i B
(A) (2,0 (B) (0,2)
€) (2,0 (D) (0, -2)
The coordinates of the focus of the parabola x2 = -8y is:
(A) (2,0 (B) (0,2)
€) (2,0 (D) (0, -2)

0 x%+y2 -8x+12y—12=0 B H5% B [MaH TG PO

1531

Find the coordinates of the centre of the circle x2 + y2 -8x+12y-12= 0.

g 4x2 +y? =400 F ety A TE R ¢
(A) 10 (B) 20

(C) 40 (D) 400

The length of major axis of the ellipse 4x2 + y2 =400 is:

(A) 10 (B) 20

(C) 40 (D) 400

P.T.O.
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(29)

(30)

(31)

(32)

(33)

(34)

(10) 1531
g (2, 3) & oM archt &R & x-3fef & 45° B BT TN A @ H FHHT T : 1
(A) x-y+1=0 (B) x+y-5=0
©) x+y-1=0 (D) T & F T

The equation of line passing through (2, 3) and making an angle 45° with

positive x-axis is :

(A) x-y+1=0 B) x+y-5=0
C) x+y-1=0 (D) None of these
WM 4x+3y=12 xo8 H T g WA 8, @8 8 ..o | 1
The line 4x + 3y = 12 meets x-axis at the point ............. .
g (1, ) A 5x+ 12y +9 =0 W S T TF Bl AAE 8 «coovvvvnnnnn | 1
The length of perpendicular from (1, 1) to the line 5x + 12y + 9 = 0O
1S ceeiininn. .
fdaT 9x2 + y2 =225 F IhwAl TG BT 1
Find the eccentricity of the ellipse 9x2 + y2 =225.

lim 22X el x e A A ¥ 1
x—=0 X

lim tanx _ . where x is in radians.
x—=0 X

im P g am | 1
x—0 X

. ANl+x-1.

lim —— is ...ooeneee.
x—0 X
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(35)

(36)

(37)

(38)

(11) 1531
x°(3-6x7) F xF T TGP ST BT 1

Find derivative of x5(3 - 6x9) w.r.t. x

3 cot x+ 5 cosec x & x P GNE HThaTo & : 1
(A) 3 cosec 2x — 5 cosec x cot x

2

(B) —3 cosec“x — 5 cosec x cot x

(C) -3 cosec 2x + 5 cosec x cot x

(D) 3 cosec 2x + 5 cosec x cot x

The derivative of 3 cot x+ 5 cosec x w.r.t. xis:

(A) 3 cosec 2x — 5 cosec x cot x

2

(B) — 3 cosec“x — 5 cosec x cot x

2

(C) —3 cosec“x + 5 cosec xcot x

(D) 3 cosec 2x + 5 cosec x cot x

9, 5 3, 12, 10, 18, 4, 7, 19 &I HiHH (Median) & 9Ny A faae
B . | 1

The mean deviation of 9, 5, 3, 12, 10, 18, 4, 7, 19 about Median
IS veiiiiiiiiienns

MWAMNMBA TN E A= dqd-a1 a9 78 &7 1

(A) PPANn B <PAuU B (B) P(An B) < PA)
(C) PA)<PANDB (D) PB<PAUDB

P.T.O.
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If A and B are any two events, then which of the following is not true ?

(A) PPAN B <PAuU B) (B) P(An B) < P4)
(C) PA)Y<PANDB (D) PB)<PAUB)
(39) 3% A R B & e & ford P(A):%, P(B):% AR P(AmB):%, a

P(A U B) Fd &I 1
If A and B are two events such that P(A):%, P(B):% and

P(ANnB) =§, then find P(Au B).

(40)qﬁ%@m%éﬁﬁqﬁw%%a‘rwm%‘qaﬁ’aﬁmﬁ%: 1

2

(A) O B 7
9 -2

© 3 D) -7

If 1—21 is the probability of an event then the probability of the event

"not A" is :
2
A) O B —
(A) (B) T
9 -2
Cc) — D =
(€) T (D) T
SECTION -B
Yug -9
2. 5 FHfT 2
sinx +sin2x+sin3x
=tan2x

Ccos X + cos 2x + cos 3x

1531
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Prove that :

sin x +sin2x +sin3x
CcoS X +cos2x +cos3x

=tan2x

tan (lznj A ST T

Find the value of tan( :9;]

M xriy =, F R B 24y =1
2+1
If x+iy=1+—2,l,prove that x2+y2 =
2+1

TR 3¢ (G P) 2, 242, 4, ...... T H-HT 95 128 7 ?

Which term of the G. P. 2, 242, 4, ...... is 128 ?

Wl x—2y+5=08R x+3y—5=07% 9 H HT T HIOW|

Find the angle between the lines x -2y + 5=0and x+ 3y -5 = 0.

TR f)=—B%X & () TE R

l1+cosx’

sin x ,

1531
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SECTION-C

g -9

1531

RrE il
cot4x(sinSx +sin3x)
cot x(sin S5x — sin 3x)
Prove that :
cot4x(sinSx +sin3x)
cot x(sin S5x — sin 3x)
R y=—221 G Y o i
4x“ +5x+6 dx
Ify = 22x +3 ay
4x“+5x+6
10. f=fafaa efieet & ST faEee (S.D.) ST i -
X 3 8 13 18 23 28
f 7 10 15 10 6 2
Find Standard Deviation of the following :
X 3 8 13 18 23 28
f 7 10 15 10 6 2

1531
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T TGOS & G A X B W MEIRG ol Fhel agesdr g T et & A § 9w e
P MRAET 80% AR B H UM BW & 70% Tl AR ITD B A A B F U9 8N H
WIHAT 95% &, A 3G &l § I B &l Sk S o 4

An entrance exam is based on two papers A and B. The probability of passing
one paper A by a randomly selected student is 80% and passing paper B is
70%. The passing at least A or Bis 95%. Find the probability that the student
passes both the papers.

SECTION -D

quE -7

A Frell TN A9 B TR A W A AT T2 A S e 1A, @ G Pw
ST S8R 3 Ml 98 S i 6

The sum of first three terms of a G. P. is % and their product is 1, then find

the common ratio and the terms of G. P.

AYAT
OR

AL a, b, ¢, d UK G G. P. ¥ &, d@ B= #C & @"+p"), B+,
(c" +d") d G. P. (TR &) & 2

If a, b, ¢, d are in G. P., then prove that (a™ +b™), (b +c"), (c" +d™) are also
in G. P.

g (1,2) WM x-3y+4=0W I W T & & &g & &g o dfm 6

Find the foot of the perpendicular from (1, 2) to the line x-3y+4=0.

P.T.O.
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OR
39 T H THIET 9 B e S (0, +13) W SR T (0, £5) W &

Find the equation of the ellipse whose vertices are (0, £13) and foci (0, +5).

1531



